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Only Correct And Reliable Way
To Calculate The Capacity Of
TEE Compressors.
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JAE, AZ, THA, TE, MTH :Jca
*110=Cooling capacity(kcal/hr at 50Hz)
Aol (508 gLy BElal delhidy ja i Ay
*Y=refrigerant /33 Ja

A=R12 Z=R404a U=CARE30
* Y=134a, M=R600a
*'T=MOTOR TYPE J,adl Juiss

N D:RSIR =Resistance start/Induction run
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P:PTCSIR=Positive Temperature Coefficient Resistance
Start Induction Run
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T:PTCSCR=Protective thermostat start capacitor Run
capacitor
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C:CSIR=Capacitive Start - Inductive Run.
K:PTCCSIR
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6-refrigerant paiduall 3 50 by

7-cooling type bilah y 8 de 5

S:static cooled gds 4,5

O:oll cooled <yl 45

F:fan cooled 4 3 ikl 3y 2 5

8-serial number & manufacturer date
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